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1. $x\in S\to 1\le x\le n$
2. $x\in S,y\in S,x\le y\to y \neq kx,y\neq k"™ px$
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const int Mod= ;
int quick pow(int a,int k
int ans=1;
k
k&1 )ans=1LL*ans*a%Mod;
a=1LL*a*a%Mod;
k>>=1:

’

ans;

LL my pow(int a,int k
LL ans=1;
k--)ans*=a;
ans;

const int MAXL=64,MAXP=10;
int dp[MAXL <<MAXP],s MAXL];
int main
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11:16

LL n=read LL();
int k=read int(),p=read int(),S=(1l<<p)-1;

enter £

dp =dp =L;
s[1]=2;
_for(i,2,MAXL
_for(j,0,1<<p
dplil | (j<<1)&S!=(dpli][(j<<1)&S|+dpli- j 1 )%Mod;
j&1)==0&&(j&(1<<(p- ==
dplil[(j<<1]|1)&S]=(dp[i][(j<<1|1)&S]+dp[i- j1)%Mod;

_for(j,0,1<<p
slil=(s[il+dpli]l[j])%Mod;

int ans=1;
int i=1;;i++
LL lef=n/my pow(k,i)+1,rig=n/my pow(k,i-1);
LL cnt=rig-lef+1-((rig/k)-(lef+k-1)/k+1);
ans=1LL*ans*quick pow(s[i|,cnt%(Mod-1))%Mod;
lef== ;

enter(ans);
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